PRODUCTS INC

Universal Dolly

Assembly Instructions

965 Lambrecht Road | Frankfort, IL, 60423
Phone: 866.403.9803 | Fax: 815.469.4705

Email: customerservice@riecotitan.com

www.riecotitan.com




Please make sure you have all listed parts before you start.
Parts included:

4 A Legs

2 Swivel Casters with locks

2 Rigid Casters

2 Cross Rails 3" x 3" x 45"
4 E Side Rails 3"x3"x 32"
2 Center Side Rails 2" x 2" x 35"
4 G Ratchet Straps

44 H 3% Bolts 3/8-16x1-1/4
44 | Zinc Nut 3/8-16

88 J Flat Washer 3/8

44 K Lock Washer 3/8

Tools Required: 9/16" open end wrench & an adjustable wrench

Helpful Tools: 9/16” socket with ratchet wrench or battery powered impact wrench

alEBDh



See table on previous page for part names and dimensions.

Swivel Casters with Locks

Back:
Rigid Casters

Figure 1. Part Layout

alEBDh



Step 1: Lay out all components face down in the shape of the dolly with the holes in
the rails facing in to make sure all rails are in the correct position (Figure 1).
The Side Rails (Part E) should have the sides with 2 holes closest to the legs
(Part A) and the side with 3 holes towards the center side rail (Part F)

Conter side rol
/

i

) f
/
/
. sl il
1 |
/
/
/
£ ~ Setvel coster
Fhopd cagter

o

(Figure 2).
Side rofs
Hote thire @ styles of
side ralls. The 3 hole side ciwoys goes
to center of frome to mount %o
center side rol

- O of pach Style plus cimber ral
" uq." ¥ hodes rakes up o sioe. Center ralls ard
.- - B . o
‘;.“ N Hole for rotchet sirap / BOth the Bunn S wrass ’0\":
A e e——— = _ . N
] / _ .

) L -~ . = ;
1N ~¢7/
e Figure 2. Side View LS

Leg mounting holes
Note how you can adjust the
width by using dif ferent holes

/ /
- ';' S —— -
—— Tow kar mounting holes .
B 7 Cross rall
/ Both cross rails are the
/ same there is no front or
/ back
L ‘ al ]

Figure 3. Front View

Step 2: Measure your camper basement to determine which orientation you need.
The width of the dolly can be adjusted from 40 to 45 inches with increments

every 2.5 inches. The length can be adjusted from 70-88 inches with 2-inch
increments (Figure 4).

NOTE: It is ok for the rear of the camper to extend past the dolly.

ﬂl Enn 965 Lambrecht Road | Frankfort, IL, 60423

PRODUCTS INC Phone: 866.403.9803 | Fax: 815.469.4705

miwn“ Email: customerservice@riecotitan.com

www.riecotitan.com




T Al

Fully extended length N Width=40 to 45 40 ;asg::Sinu it ac Jussed S0
partioly adjusted width 423 2 1/2* increments |
17 dJ
1 * L m =
3= I EJ : - -
I S S— [ — ] 1 T T T - =7
B = € 3
. | Length=70 to 88 Length adusted to shortest
Fully extended length and width 45 2* increments 45 width full size
1
| |
| |
| = o A=
!£’4] | [ S
—— - 88 ! | — 70—

Figure 4. Dolly Configurations

Note:

At all attachment points use one bolt, 2 washers, 1 lock washer,
and 1 nut.

e Put one washer on the bolt then insert through holes to

connect to the dolly

e After bolt is inserted, add second washer

e Then lock washer

e Finally attach nut to lock it into place.

Step 3: Attach two legs (Part A) to both sides of each cross rail (Part D) with provided
hardware. For narrow campers use holes that are closer to the center of the
cross rail (Figure 3). Use the matching holes on both sides.

Step 4: Attach one of the side rails (Part E) to each leg (Part A). The side with 2 holes
is the side that attaches to the leg. The side with 3 holes will attach to the
center side rail (Part F) (see Step 5). At this point each center side rail and
cross rail (Part D) will be attached to the legs.

NOTE: Have the length of your camper basement ready to determine the dolly length.

Step 5: Attach the center side rail (Part F) to the 3-hole ends of the side rails (Part E)
using the appropriate holes for the length of your camper. Make sure both
sides are bolted in the same positions (Figure 3). Do not fully tighten until the
dolly is flipped back over (see Step 7).

alEBDh



NOTE:
Decide which of the narrow side of the dolly you will use for the
end of camper that goes closest to the truck cab. This will be the
“Front” of the dolly--the opposite end will be the “Back”.

Step 6: Attach the swivel casters (Part B) to the legs (Part A) at the “Front” end of the
dolly. Before bolting, ensure the caster mounting plate lines up with the holes
of the leg plate and that the silver plates of the casters (Parts B & ©) are
running lengthwise with the dolly. The rigid casters are placed at the “Back”
of dolly with wheels running parallel with the side rails (Part E).

Step 7: Flip dolly right side up--with the Casters (Parts B & ) on the ground.

Step 8: If you see bowing in the connection from the side rails (Part E) to the center
side rails (Part ) (Figure 5) lift up on the center side rail and tighten bolts
until the side rails are level (Figure 6).

It—“—éﬁi
4 \ /|
L Figure 5. Slanted Side Rails w

7 1 § T

Figure 6. Straight Side Rails

ﬂl Enn 965 Lambrecht Road | Frankfort, IL, 60423

PRODUCTS INC Phone: 866.403.9803 | Fax: 815.469.4705

miwn“ Email: customerservice@riecotitan.com

www.riecotitan.com




Loading and Moving Your Camper

NOTE:
Have your camper elevated on its jacks and the
truck pulled out from beneath it.

Step1: Position the dolly under the camper with the “Front” caster wheels (Part )
under the end of the camper that goes closest to the truck cab.

Step 2: BEFORE lowering the camper onto the dolly lock “Front” caster wheels
(Part ) (Figure 7).

[

The “Front” Caster Wheels (Part ) are
LOCKED when the brake is pressed
firmly into the top of the wheel.

Figure 7. Locking Caster Wheels
Step 3: Use the jacks to lower the camper onto the dolly--ensure the camper is
centered on the siderails before retracting the jacks fully from the ground.

Step 4: Use the straps to secure the camper by hooking one end to the holes in the
side rails (Part E) of the dolly and the the other to the tie down holes on the
camper.

Step 5: When preparing to move the camper and dolly unlock the “Front” caster
wheels (Part ©) (Figure 7).

Step 6: Roll the camper to the desired location either by pushing it or towing it.
NOTE: Towing requires the purchase of the trailer hitch attachment for the dolly.

Step7: Lock the “Front” caster wheels (Part ) once the dolly has been moved to the
desired storage location (Figure 7).

Call: 866.403.9803
Email: customerservice@riecotitan.com
Message: www.riecotitan.com/contact/

ﬂl Enn 965 Lambrecht Road | Frankfort, IL, 60423

PRODUCTS INC Phone: 866.403.9803 | Fax: 815.469.4705

miwn“ Email: customerservice@riecotitan.com
www.riecotitan.com






